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Journalism & Mass Communication

Paper 1II

TARTRAT 3TUT SHEAR
gyuteRt 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U TR Wl U dredl

GO : A YIAehd THY WM (100) sgUER g9 fooel ofed. Uoaeh YN @ (2)

Which movement is defined as the
rejection of western conventions and
the depiction of reality that is widely
distorted for emotional effect ?

(A) German Expressionism
(B) French New Wave

(C) Cinema Verite

(D) Cinema Nono

What was the permitted Foreign
Direct Investment (FDI) in
newspapers and news periodicals
in 2018 ?

(A) 100%
(B) 76%
(C) 49%
D) 26%

Which is the light that is an
ellipsoidal non-defining unfocussed
spot light ?

(A) Reflector
(B) Fresnel
(C) Soft light
(D) Scoop

EIATAT SUSAT S TITHTS]  ITEqAT
foediento & Tf=HeT 9O Shivre

"

Tesda e foell ?
(A) A TR
(B) %9 9 9%

(C) T afe

(D) Tg=1 FH

A 9 gu AR med 92 Teht
TTqaU[eh el AT FART 2018 Hed fehelt
B ?

(A) 100%
(B) 76%
(C) 49%
D) 26%

IEeTdeh! HIVICAT ATGSAT FhTITEIT
AIMATHRAT, HIEET AFqsS HTI0T
uRafod Teqrn 3qar ?

(A) TR
(B) ®yAa
(C) Wie @mée
(D) wHY

[P.T.O.



Which of the following is not a
Serif font ?

(A) Times New Roman
(B) Courier

(C) Cambria

(D) Calibri

On the keyboard of every computer
each character has an ‘ASCIT’ value
which stands for :

(A) Adaptable Standard Code for
Information Incharge

(B) American Standard Code for
Information Interchange

(C) American Stock Code for
Information Interchange

(D) Adaptable Standard Code for
Information Input

Which is a messenger that is used
for chatting online ?

(A) KIKA
(B) IMO
(C) Agile Bits
(D) Altavista

Which one of the following
measurement does not divide a set
of observations into equal parts ?

(A) Quartiles

(B) Standard deviations
(C) Percentiles

(D) Deciles

JUN - 19219/1I—A

¢ o

Aw' w=E (TH)

JEIcTIeh!  ShIUTd]
TE 2

(A) TR = 9T
(B) #H{R

(C) it

(D) it

Yk IR hodhelhlala Tcih
fo=glell Teh TRl (ASCII) qodt 3T9d.

e quiEd wE ?

(A) 3TSRTA Eee T B ITTHAIM

(B) 3TAflehd Eee &I WR THAIM

(C) TARFA Wik HIe ®BR STHHAIH

(D) 3TSLdd ESe &g B TTHAYMH
ERRC

JEITIeh! hIV TSR AT S

AR A ?
A) T

(B) 219.TH.37.
(C) ITMEa siey
(D) e

AaeToen 9HE 9ra farTETETst
fectedn Jaaieht shael HI UgHd Ao
S ATEr ?

(A) Fariza

(B) ¥<2 feuwH
(C) Td=rEd

(D) <9ra




10.

Which of the following statements
is correct with respect to Research
Methodology ?

(A) It is about those methods which
are concerned with the collection
of data.

(B) It consists of those statistical
techniques which are used for
establishing relationship

between data.

It considers the logic behind the
methods we use and explains
why we use a particular method
in the context of research.

(©)

(D) It consists of those methods

which are used to evaluate the
accuracy of the results obtained.

Which popular media group known
for having started private television
channel in 1992 has stake in
television distribution as well as
production ?

(A) Zee TV

(B) Tata Group
(C) Times Group
(D) Essel Group

The process of corporate advocacy to
influence decision-making by the
legislators, regulatory bodies and
government officials is called as :

(A) Public Relations
(B) Public Affairs
(C) Lobbying

(D) Publicity

10.

JUN - 19219/11—A
TIMeA UeHd yumelt  (Heretarsi )=
Teyld @Teladeh! &I faem sk
A ?
(A) T FhoHRT Hafed qged=n
TP Bl

(B) deameie To TEUIMETST Saie
ST HEARISE e o

A B
(C) HEMEHAT FEHid St UgHd aTaRuaT

F{d AN dlfeheh IR0 ITd

fomamma Sad .

(D) fswwIf=t stewar AISvATATE
STRUATAT IGUdal d HATS
Bl

AT 1992 AL @ISl gIf=rsreo
oIfgl & FHIOM HIU HEIH T3
wrden ffddt o faaeor = S8 &siq
HREG Mg ?

A) =it F=El

(B) 2= gu

(C) 2= U

(D) T U

TER] 3T T ARyfafae, s
LT F FIHT STRT=-IATaT JUT
STRUIES ST Ufshan Taad faan
U ?

(A) STETh

(B) S Ha8R

(C) e
(D) wfagHt

[P.T.O.



11.

12.

13.

14.

Which is the sampling technique
that allows every unit in the
population an equal chance of being
selected ?

(A) Convenience Sampling

(B) Snowball Sampling

(C) Stratified Random Sampling
(D) Expert Sampling

What type of Sampling technique is
it when researcher ‘selects samples
as and when s/he gets them’ in the
process of data collection ?

(A) Random

(B) Incidental
(C) Purposive
(D) Snowball

Which of the following is not
required in the reference list or
bibliography entry ?

(A) Place of publication
(B) Authors names

(C) Publisher

(D) Call number

When a reporter goes to an
interviewee with evidence of his/her
wrong doing and then asks direct
questions about that specific
incident, instead of asking general
questions, what is it called ?

(A) In-camera interview
(B) Confrontation interview
(C) Undercover interview

(D) Smoking gun interview

11.

12.

13.

14.
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AR IR Tceh FUER fere ot
M et M RO AATEE ggdt
qelcTish! IV ?

(A)
(B)
(®)
(D)

gl TREeh T2 GhaTHIe! el fHosdd
a1 30T Hesel el THAT TMedl kil
TIAEE Ugedten HE U 2

(A) Fgfeseh

(B) (iR

(C) H&Th

(D) F-sie

TR foRa TagEia Telierish! Haa
HATIH R ?

(A) JPRM T3

(B) wiEeh= e

(C) 9h1RTh

ARt TATEE ggdl

feIeTTehdl /R THATHEE qgdt

W Fgfeseh THAEE dgdl

dod THATEE dgl

(D) UAT AU HHIS

Siegl dTdiel @ SHeKiTell =l I
o~ N . ~N

fhal ohcdl AT qUAT G FeETER
ged A foemar 9e <= geifas:dt geH
foares =l gared 9% o, ©
qTed YRRl hd oA ?

(A) ST Tieldial Jared
(B) HeicHsh Hamerd

(C) gdt Herrerd
(D) 9 ATTCATHH GeARed




15.

16.

17.

18.

What are people who have lived
their entire lives in an internet
connected world called ?

(A) Generation Z
(B) Digital Natives
(C) Net Citizens

(D) Creative Digitals

The term to describe the way in
which unfair key personnel have
control over the information that is
presented to the audiences :

(A) Gatekeeping
(B) Agenda Setting
(C) Indexing

(D) Editorial

Which of the following is the most
widely read newspaper of South
India ?

(A) Malayalam Manorama
(B) Daily Thanthi

(C) Eenadu

(D) Sakshi

What is the technique by which
utilising a production switcher, a
specific colour can be replaced with
another image source ?

(A) Cyclorama
(B) Set unit
(C) Chroma-key
(D) Flat

15.

16.

17.

18.
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S ek W YU ST ST fasam
A hIATd AT 1 T ?
(A) ‘=it o (SReE )

(B) fefsea wenfien (fefsea Afess)
(C) 72 =i (e fafes)

oo

(D) TN fefseew (forufess

o o

EISESS))

ST hTE] Hexaredl oFel JeehiT faeen
SO HifeceR 39l =0 Sa STHar
ATAT h1F FUIAd 7

(A) eI
(B) ot gfem
(C) sefrm
(D) Tfedfma

ST YRATHES HAiTYeh dreet SR Jaas
FIUA ?

(A) HETITETH HARH
(B) fe7 o

(C) T=

(D) wafl

HlewRH == aedn fafEa saen
TS fafeme 1 atesn g8 gfaA

ICATITAT ATl ki oA 2

(A) AR

(B) ¥ Ffe
(C) -t

(D) w2

[P.T.O.



19.

20.

21.

22.

Which of the following does not own
a daily newspaper in India ?

(A) Trust

(B) Private Limited
(C) Government
(D) Cooperatives

Which of the following Hindi
News Channels had the highest

viewership according to BARC in
February 2019 ?

(A) Aaj Tak
(B) News 18 India
(C) Zee News
(D) India TV

Which of the following states was not
included in the famous SITE project
in India ?

(A) Karnatak
(B) Orissa

(C) Maharashtra
(D) Rajasthan

Who is the author of the landmark
1971 paper ‘Development Communi-
cation in the Agricultural Context’ ?

(A) Leela Rao

(B) Uma Joshi

(C) Nora Quebral
(D) Crispin Maslog

19.

20.

21.

22.
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IRAT JEcTdeh! hIvThe Sf-eh Jausmel

AR A ?

(A) faswa g

(B) @l waffed

(C) wmEA

(D) HehRl Her

HEt 2019 FEY SLTAR.GLT WER

Foledl AhSARIIOR Falfaes d&dh
U fedl gaanfet Siont Bt ?

(A) 3N doh

(B) =& N sfeam

(C) & =

(D) zfean fe=dt

TR Wag ‘T8’ A1 YeheurHed
EATTUeh! ShIveT TSI THIGYT SH{0ATd
STl Agar ?

(A) HAleh

(B) o

(C) "o

(D) TSEE

‘pivgeren wewld fawmm dar’ @
1971 el gfagy Sierean sy e
WEE R B ?

(A) witen
(B) 31 Sired
(C) R el
(D) forfem HgarT




23.

24.

Statement (A) :

Caste discriminations are now-a-
days observed only on celluloid.

Statement (R) :

The directors of films have stopped

addressing caste distinction.

In the context of above statements,
which one of the following is

correct ?

(A) Both (A) and (R) are true, (R)
is the correct explanation

of (A)

Both (A) and (R) are true, (R)
is not the correct explanation

of (A)

(B)

()
(D)

Neither (A) nor (R) is accurate
(A) is false and (R) is true
What is Crowd-funded Journalism ?

(A) Journalists propose projects
online to people who then
contribute to those they deem
worthy

(B) Non-professionals running a

daily
©)

Readers contribute to page-
making of a daily

(D)

Readers propose projects online
to Journalists

23.

24.
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fagm@ A) :

EERRECERSILIEH

SIsienlel  thed

-~

qrereard Headl.
faam= (R) :
fesye feresient Sit-Seren fao=men
A foumE 9 ¥ A9YA Seieden!
TR IR fos

(A) faum (A) enfor faeam (R) & <t

faum sk e, faam (A) =
faum (R) & 99 &Ro 2Te

(B) faum (A) snfor faem (R) & Sr=!
faum slieR /el 9 faum (A) =
faum (R) ® 9 RO @

(C) fauam (A) sufor faum (R) <=1
faum gt o

(D) faam (A) T g f9gH o’ ™
faum (R) & 19 3R

¢ haN ] o N
hI3e Hes TARILAl US| kI ?

(A) TFARR THEIGI Tdish Yehed CIEIES
SR Shed SISl =T STES 9Tl

(B) fit-sgrawifas  di®w  TwER
BRRGEANEICISIEGIN

(C) fraderifas=l 9™ TIR H{vdrd

qraeh eyt g

(D) 99 TARIAT AR fas™

Fafadd

[P.T.O.



25.

26.

27.

28.

The ASCI code has been appended
to which of the following :

(A)

Cable Television Networks
Rules, 1994

Right to Information Act, 2005

Information Technology Act,
2008

Telecom Regulatory Authority
of India Act, 1997

Which is the indicator to ascertain
‘Quality of life’ of population ?
(A) DQIL

(B) HQLI

(C) DQLI

(D) PQLI

From case studies of communities
adopting or rejecting technological
innovations, Everett Rogers found
that diffusion took place in five

stages. Which of the following stages
occurs first ?

(B)
(®)

(D)

(A) Persuation stage

(B) Knowledge stage

(C) Implementation stage
(D) Formal education stage

Why is it important for reporters to
talk to sources ?

(A) Sources help publish a

reporter’s story
(B)
(©)

Sources by newspapers

Sources are the people that
help edit and revise copy

(D)

Sources give a story balance by
offering different perspectives

25.

26.

27.

28.
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feh!  (IleafEm Heed wefud

< AT * A X A
A sfean) = Hohd WeiieTdehl hITe

ufifefeeq sal 3R ?
(A) fe qeae fm, 1994

had ffogs
(B) wifedien Afesir=n S&gl, 2005
(C) wfedt o[ e, 2008

(D) 2feehfH Tregeredt 7l Sif sfea
3k, 1997

fafyre SE=d ¢ SttaHMAde Iaar’
. NN ~ AN o
I HheUdd HUA hIUAES JeleTdehl

T HEHTET IR Bl ?
(A) SFIAETE
(B) TI.99Y.UA.3TA.
(C) S .F.Ta. 3
(D) .. TA.3T.

qif>er TN SR o= fear d
TERRU TG ] AT hed
Tele U9 A 3 qreed fea &
MYl YUR UM TOHEd Bl ARl
DU T YYH Il ?

(A) TIT HIOAET O
(B) 9T <O

(C) SHEESTEv=T o

(D) siy=nfiew fereomen om

ITaiga Ediei sierol STravdsh ki

AR ?

(A) ©Id SHT S S0 Hed HIdd

(B) ®d daq9s foaekd Sdrd

(C) &d FaHe Hare S Jeier A
HSA S Idld

(D) ¥ araH fafay Ieg wnmda sames

AAHT THAIA Tl It

10
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29. If the following activities are | 29. TR URE EASA HITAHE e
undertaken while arranging a press T FHYET NG STy &= A
conference, which of the following is a2
the correct sequence ? ’

(1) share a write up about the (i) hredshH o FE Aot ot Afed]
event and organisation, ],

(i1) answering media persons’ (ji) TR GYATET STW QI
questions,

. . (iii) SAfeerrara faeT,

(zit) briefing by an authority, i

(iv) welcome address by PRO, (tv) ST STEHRFA TR ST,

(v) send a press release, (v) FTEHTTH e,

(vi) send an invitation (vi) =T arEEy

(A) (vi), (), Gv), (1), (D), (v) (A) i), (), Gv), Gii), (i), )

(B) @), i), @), (), Gid), @) B) ), i), Gi), (), (i), ©)

(©) (wi), ©, ), (@), i), ©) (©) i), @), Gd), Gv), Gid), @)

) (i, (B, (), (0), 0L, G D) @i, (), Gv), ), (@), (i)

30. Which of the following is not a major v, W), W0, A0), A, it
distinguishing characteristic of | 30. EleTieh! IV IR S e aRmafesh
India soap operas ? mfeehi™ Teh Hew@e Adwesh  aeiu
(A) Preference to outdoor shoots a2
(B) Women centric stories (A) wSieiered feasfietmen faa Som
(C) Loud and melodramatic BRI

narrative treatment NN
(D) Storvline that h ) (B) ®AThsl hdTeh
oryline that has excessive
marital and familial conflicts (C) wesh MO HGHIchS HATTh

31. What does ‘Bluetooth’ technology (D) HAThId SAHIRT cl;\lg;rqcha SeTfEeh
allow ? T AR T
(A) Landline phone to mobile phone | 5; ‘SeY’ AT AT JEeTush! T

communication Q'IEP; a2
(B) Signal transmission on mobile ' .
phones only (A) et STfor yHuIEAHAE T HRa
(C) Wireless communication (B) e YHUTESHIHES BIUR HATIH
between equipments . .
S : (C) YRR TUM drferfed T
(D) Satellite television communi- .
cation (D) 3w =il HA9A
11 [P.T.O.



32.

33.

34.

35.

When News stories where
paragraphs are written in order of
descending importance, and then
using a transitional paragraph,
introduces the rest of the story
chronologically, what is the style
called ?

(A) Inverted pyramid style
(B) Chronological style
(C) Hour glass style

(D) News feature style

How long is copyright protection
valid for a literary work following
the death of the author ?

(A) 50 years
(B) 40 years
(C) Forever
(D) 60 years

What is it called if an organisation
allows people for a day to see the
work being carried out by them ?

(A) Educational Visit
(B) Open House

(C) Visitors Day

(D) Public Relations Day

Which of the following is not a
method for preparing Advertisement
Budgets ?

(A) Fixed percentage of sales
(B) Comparable to the competition
(C) The maximum amount possible

(D) The minimum amount

32.

33.

34.

35.
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SIAHTE] e Felld HEwar=Al HeguTaRT

ST S Yool IR=eRTd SSURT Ha&l
IS UaT=A Sqw TAGUar=a eIl i
oI ?

(A) S frenror et
(B) HIGHA et
(C) aTege wEdes Yt
(D) guer@ el

AT oA el eTeeadl

@i g fohdt a8 @R TEal 2
(A) 50 9o

(B) 40 =

(C) ~gHtehfar

(D) 60 H

ch[H l‘IIE’»W’II{-Hc'S\I YAl od«dl L IATA h
R ?

(A) Sreforr 92
(B) U ®H
(C) 2rra e
(D) SFEus e

STfeerdi=n Afdswey IR HIvIT=
WIEATAh! Hoell UGHd ATEr ?

(A) fosrel ff=g cshardt

(B) &Rl g &0

(C) Sord YRR deel 3Tfedeh i
(D) HH FH enfesh Tqg

12
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36. One of these is a reason for faulty | 36. igﬁmt]qﬂ FI0d HSIS AU HIL0
listening : e ?
(A) Listening with images of (A) TRy i SEEEER
stereotypes
(B) Focussed attention T .
(C) Questions to a minimum (B) <&l hfsd w0
(D) Listening with mind (C) ®Ha &HI g (Ao o)
37. Which of the following is not true (D) A U=hUl
of Advertising and Marketing ? 37. W] el SEd 21T faaorTeTsd
(A) Marketing is a long-term St = bt
process while advertising is = nc o -
short-term (A) Ta9UA flbichlcdld X SR Bl
(B) Advertising is part of marketing lollcl siid
communication (B) Sfedrd 81 faqur |maer=n 9T e
(C) Advertising is about promotion (C) fetd Y=aESt 378 | fague
while marketing is also about ¥ M, fraa onfor Scaew wieh
place, price and product Tsfeg e
(D) Advertising costs more than
marketing (D) e famomraen s @ 2
38. What is the most common use of | 38. WA HifgAr gergwhom=r YA
‘social media’ analytics ? TIAHTY0 HIMES Bl 2
(A) For increasing profits (A) TR T
(B) To increase customer base (B) UTesh WA STefavErEat
(C) In order to support marketing oo TR AT
and customer service activities © ~ 37{TEUT o
(D) To win an election (D) N SRR U
39. The following are the characteristics | 39. ¥ fecifarfsaa warsir=it el dferses
of Information Society : Tt fedet emRa it STl
() Organisation of society based iy Aifeditafted THeE (SRRAYH
onﬂ science, rationality and )T wfafafae S| 2
reflexivity. NS PN .
(z1) Labour market needing less @) fo9m, fqdwem s =
education and more physical ST FHSCE
effort. (i) IR o= feraromaen mdfes
(zii) Media and information products STER TR Al fered
dominated by culture. ({ii) TEhdren HIeY T8 Hfedt ScareeR
Which is accurate representation of ST GHE
the Information Society ? .
(A) Only @) Y (A) H %[H'Ff ) )
B) (i) and (i) (B) e (i) ST Gid)
(C) (@) and (it7) (C) & (i) M (iii)
(D) (@) and (i) D) R (G7) 3 (iii)
13 [P.T.O.



40.

41.

42.

43.

In journalism, what do you
understand by ‘unkets’ ?

(A) Free sponsored trips
(B) Fake news

(C) Kill a story

(D) Negative feedback

What device does cardioid represent
in video production ?

(A) Microphone

(B) Camera

(C) Stand

(D) Lights

Which of the following describes
external communications ?

(A) External communications keep
employees informed about the
company.

(B) External communications
always flow from the bottom to

the top.

External communications are
always carried out using mass
media.

(©)

(D) External communications deal

with investors, clients,
customers

Which is the official state run press
agency of the People’s Republic of
China ?

(A) Asahi Shimbun

(B) Xinhua News Agency

(C) Renmin Ribao

(D) Chinese Central News Agency

40.

41.

42.

43.

JUN - 19219/11—A
TARIAHE, ‘Sehed| a1 AT &M
Fdelly Bl ?
(A) TP OHd SR
(B) sM@e dTqHT
(C) STt A o
(D) THRHF FfaHT

‘Ffearze’ foefest TreamHLa sHaed

SRCIUII I 2|

(A) ARG

(B) =uq

(C) ¥=

(D) «RZH

TCHeTdeh] el aTgd I Fgfih
U SR ?

(A) e TS ShuAr=A1 HHAATTA

FHutaTed Hifed=n e g& el

(B) 9Ted 999 GIS=AT WToT=Al
e ) B

(C) 9Ted THAYA eHl S HIETHgR el
il

(D) e HAT9AER ‘idOIULOhC\I{, T&hR,
freEwrl oy g Sl
=H e SAfURd UH TS IO ?

(A) srEmE fRieH

(B) forgen =& TS

(C) I famen

(D) =S Hed =& TS

14



44.

45.

46.

47.

The financial publics of a company
include :

(A) Investment analysts

(B) Employees of a bank

(C) Senior citizens

(D) Political journalist

What is the full form of DSLR ?
(A) Digital Single Lens Reflex
(B) Direct Smart Locus Reflector
(C) Direct Sun Light Reflector
(D) Digital Sequence Light Reflector

When an autorickshaw’s interior
is decorated with pictures cut out
from popular magazines it can be
called a case of what mass media
process ?

(A) Cultivation
(B) Representation
(C) Bricologe

(D) Reproduction

A general expression for the
tendency of global media industry
exporters to dominate media
consumption in developing countries
and impose their culture and other
values is termed as :

(A) Culture monopoly
(B) Cultural imperialism
(C) Cultivational culture
(D) Mediated culture

44.

45.

46.

47.

JUN - 19219/1I—A

TETE hurear Smfefe weameined
(ufscrerm) qE@dsht HYMET FHE
gl ?

(A) Tdave fasioen

(B) % FHHEAN

(C) I3 AR

(D) TS TFHR

‘ST qU w9 wE ?

(A) fefsea fama o e

b (8 N o N
(B) SR HE dlehd TLHIRI

(C) SR 91 e Toat

(D) fefSea fea are Tgia

fram=ar sdta 9 SeEl ARy
AR ST 9 o df faehead
HSA STl degl TN FSIvTel Hoal
SAHEAH ishdl WU ?

(A) Hfceegs™

(B) =M

(C) RIS

D) darewR™

AW ATeaHagr=a fHafdygA,
foreraelier STl Tem e fmton
oTell ThITgheel ad9 famaasid
TEIER AT HILAHHHRAT ATGere F&hdl
MO Jo& A TR0 HE Halee
S ?

(A) IHfdsh THIHFR

(B) Qihfaes AHTSIETR

(C) TR
(D) HEFEwfoT Hehdt

15
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48.

49.

50.

51.

Marathi daily ‘Dnyanprakash’

published which of the following

news and information ?

(1) Panchang or Almanac

(2) Market rates

(3) International news

(4) Government notifications

(A) (1) and (4) are correct

(B) (2) and (3) are correct

(C) All are correct

(D) (3) and (4) are correct

Which section of the Indian Penal

Code is about Sedition ?

(A) 124A

(B) 124B

(C) 130

(D) 498

What is an advertorial ?

(A) An advertisement in the form
of editorial content.

(B) An editorial written to condemn
advertisements

(C) An advertisement on the
editorial page

(D) An editorial about the editor
himself

The term ‘Phatic Communication’

refers to :

(A) Verbal or non-verbal communi-

cation that has a social function

rather than an informative

function

Communication during natural

disasters

(C) Verbal/Oral culture recorded in

Ethnographic studies

Communication with no media

involved

(B)

(D)

48.

49.

50.

51.
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ISR EEIN M R R IR EEREDI A

TeiteTieh! shactt aTar ST wArfed

gy hell SRl ?

(1) =

(2) SN 9

(3) AW STaw

(4) THR L]

(A) (1) 37T (4) SR 3T

(B) (2) 3Mfvr (3) sI=X 31

(C) W TR 3Ted

(D) (3) 3T (4) S=X 3T

sefadiell FRaEEast aRdE <

dfgddial et HI0A SR 2

(A) 12431

(B) 124«

(C) 130

(D) 498

HeRTNIA BN HE ?

(A) FURHE AR TWEAM hela
SR

(B) Sfexrten o swevamesiiar fafeca
HIRH

(C) TUEHE THER AU e

(D) HUEHER AT HIOMR HUREH

‘wicw FgTRyH’ & 99 S Heidd

A ?

(A) TMMfegeh LA TGk FATIH STl

Aifed AT |HTSTh Hod 3Tfeeh

e

Fafife TUiET=M ®d WU

YT

TR TR Hisd shaiedl

wfeger omfoT Hifees Fxhd

WM Shelel I

(B)

(®)

(D)
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52.

53.

54.

Which of the following is not a
‘e-media gratification’ under uses
and gratification theory ?

(A) Security

(B) Cultural satisfaction
(C) Surveillance

(D) Filling time

Which of the following is often cited
as the main reason for the general
ineffectiveness of Press Council of
India in curbing wrong practices in
journalism ?

(A)

No representation for news-
papers owners

(B)

Complex and time consuming
process of hearing of cases

(C) Lack of power to take penal

action against defaulters

(D) 0Old and irrelevant standards of

code of conduct.

Credibility consists of which three
core elements ?

(A) Expertise, motivation and
trustworthiness

(B) Expertise, power and
trustworthiness

(C) Motivation, trustworthiness,
personality

(D) Expertise, power, motivation

52.

53.

54.

JUN - 19219/1I—A

ST a s fag A Enr
TTCICTUhT hI - HILHT= HEs e
TaTfose B YRUIR e ?

(A) gferad

(B) Tihfdes wmem™
(C) geouit
(D) 9 IO ETE0l

IARIATTA TR FHRAAT 3B
TTATIT=AT Heufd 89 hifma=ar

[aV

FAAERY FTsg9aEe! qEierden! hiord
RV e foad Sd ?

(A) AU HASR IO Ffarre
BEk
(B) FeRuT=a ATl gfshan feedhe

q JdBES 30

(C) IHRITTESG SSTTHb HRATE HITAT]

AR 0T

(D) STEREfEIdE A S a TRam]
TE0

‘fefafardt’ saea I qayd TR
e 38 ?

(A) Jqug, oM, fasaraarsa

(B) -qud, Hx, fasameams

(C) Xom, T, Sy~

(D) YU, T, WM

[P.T.O.



55.

56.

57.

58.

Which of the following is not a part
of an Advertising Agency ?

(A) Production Department

(B) Crisis Department

(C) Copy Department

(D) Public Relations Department

In 1961 Robert J. Lavidge and Gary
A. Steiner created which model that
suggests six steps to consumer
buying behavior ?

(A) AIDA model

(B) Innovation and adoption model
(C) Hierarchy of effects model
(D) Information-processing model

Which of the following is not
a television signal distribution
format ?

(A) DTH

(B) Terrestrial
(C) IP

(D) Satellite

If you have to record an interview
in a windy area, which of the
following microphones should one
use ?

(A)
(B)
©)

Omnidirectional microphone
Microphone with wind filter

Microphone with mounting
stand

(D) Camera mounted microphone

55.

56.

57.

58.
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Teedeh! Haal Sedd HUAET AN
39 @ ?

(A) dreRF faum

(B) serafag faum

(C) =rdt fawm

(D) SE9s faum

1961 | T . ot 3mfor 1 W
Y AT TR BRET I el
I Afdeiedn Afea™ A9 hivd ?
(A) eT=rEl Higd

(B) Afya sftr staeia Ared

(C) TRV TR Aied

(D) wifedi-wishan Areet

qeiatst wivar fafegsa far=a
faaeomen ®9ag T ?

(A) ST

(B) Mgz

(C) 3.4t

(D) Hwge

Ty I AEd SHAH SRl Hearer

(@IS HRUATHIAr qErads! SHIvTd
HIIShIhIA  STREe gl ?

A N =

(A) AATETRA HEhIHH

(B) fae fheex 31U ARHRIRH

(C) Eeald AEFehIhH

(D) wH=TeRie HIHhIHH
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59. What is the characteristic that | 59. Te@Us! Haat T Af¥Ted & ?

does not describe colour ?

(A) & (3a)
(A) Hue . .

B HainH SEERKI
(B) Saturation B) ( )
(C) Brightness (C) FEeTH (T)
(D) Harmony (D) BT ()

60. ‘Relationship beyond banking’ is the | 60. ‘iiémq?“’q forite <ifern’, & @refiel shioren

tagline of which of the following ORAT ofehd Ho@E 378 ?
) o . ]
Indian banks ? (A) dF E TR
(A) Bank of Baroda
(B) iRk
(B) HDFC SRR
(C) Axis © ] ’
(D) Bank of India (D) = i Sreen

61. Which one of the following is not 61. fectean TafEtH RS HAKT ST RTehd
one of the four main types of T ?
spokesperson ? (A) THverE
(A) Critics NP .

(B) HIellolel GT&hdl
(B) Celebrity endorsers .
Y (C) S99 AR
(C) PROs . .
(D) Brand Ambassadors (D) 05 SEEE 0 )

62. What can be the most appropriate 62. Q@ m ﬁw cﬁﬂful w
PR action in times of crisis for an il Ald HqHYeh  SIIdHh  <pdl hIUIdI
organisation ? I ?

(A) Do not allow media to report (A) HIEIH o™ i hUgd
on the incident TooTd hiol

(B) Wait silently until the crisis (B) T=yEn €@igedq T T
tides over . ) .

(C) Provide accurate information to (C) SEAETEl AEHA AT I
the media about the incident mfedt <ot

(D) Shield the stakeholders from (D) weIq fequery ST 987
the incident qSgA S0l

19 [P.T.O.



63.

64.

65.

66.

Which one of these is not a
parliamentary privilege ?

(A)

Freedom from arrest for all
parliamentarians

(B)

Expel any stranger from the
House

(C) Publication of expunged

portions of the proceedings

(D)

Order and arrest any accused
person

The
(A)

‘reputation’ of a company is :

Social evaluation in the long-
run

(B) Generic perception of the

organisation

Short-term evaluation of an
organisation and its impact on
publics

(®)

(D) Image of the organisation

Which of the following is not used
as a public relations tool ?

(A) Press Conference
(B) Press Visit

(C) Press Club

(D) Press Releases

Warana Wired Village Project was
an ICI project for agricultural
development in which Indian State ?

(A) Goa

(B) Madhya Pradesh
(C) Maharashtra
(D) Tamil Nadu

63.

64.

65.

66.

JUN - 19219/1I—A

qEIcTdeh! hIvTAl GO fagrsniasr

T2

(A) TE HUE AR STeh Uy fHeum
@

(B) erufifed =Heftell WEAGH sy
EAEkEIE I RET

(C) FEe=A HAfGH HIHAEIA I

ZThoiedl WA YR AT 3R

(D) AT KT ThHeTI= AR
0T ATIRR

TEEN Syl T’ WS hE 2

(A) TTEFI fehoR AN JaHTI

(B) SEafoerefi=n weaEemRy gftesa

(C) HE¥ STeq-FHIAEHiel JeaH T 9
TEE TSR aRomH

(D) T S i

JEIcTUhl RV SGUShiS HEH A

RS S AR ?

(A) TR ARER

(B) amdiel 92

(C) TIPR Fa

(D) ufageiT=es

YITel GUROETe! ‘aRon arae fogerst’
B Hifedl HUTU-To-A Fehed  hIvTC
TS| qafaen e ?

(A) T
(B) HEIYRI
(C) HBNI=

(D) TS
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67. Who of the following is a non-state | 67. fa&m@ Ufwadia A-vHEHTT ==
actor in development processes ? Hioral 2
(A) Public Universities (A) wefSife focemdre
(B) Corporate House/Civil Society (B) AN BHE/TFR HAIST
(C) Government Departments (C) wmEE faum
(D) Government Ministry D) 3 5
iR T AT e —e
68. Corporate Social Responsibility is 68. ~ e Y e ( N
d by SIBISED STI{QH“ICOl) [A4H1 nlY[cH]
governed by - HICAY hel S ?
(A) Companies Act, 2013 (A) HUAT HTEEI, 2013 (HUAS R,
(B) Trade and Merchandise Act, 2013)
1958 (B) ST afon fore=g e, 1958 (32
(C) Income Tax Act, 1961 3 HESRS ¥dE, 1958)
(D) Profession Tax Act, 1975 © Hl“"ﬁ"*{ HIAT, 1961 (3hH T
, , 3R, 1961)
69. In his book ‘Network Society’
Manual Castells claims that society (D) iqolqu T H, 1975 (HHH
is passing from which age to which o a2, 1975)
age ? 69. WA HEZATAT ‘e HEl
i JEIRIE HHS 3l Taiqd Haedl qaid
(A) The traditional to the modern S ST o TR T 2
(B) The literate to the visual (A) TRIRE ¥ SR
©) "I‘l;e itI.ldustrial to the (B) WeR ¥ Tvd
information
(C) sfe=nfirer q wifedt
(D) The textual to the audio-visual D) S o1
70. What z}sl a lﬁrge size llllezdilne 70, @ § S | ot &
across the entire page called - TERCIAl 3Tl el hid wgora 2
(A) Banner (A) FR
(C) Lead (C) s
(D) Header (D) X
21 [P.T.O.



71.

72.

73.

Match the Scholars with the theories
they propounded :
List I
Mohandas Gandhi
Srinivas Melkote

(@)
b)
(c)
(d)

Everett Rogers

Paulo Freire
List II

(z) Diffusion of Innovation

()

(iii)

(iv) Basic needs

Which of the following is true ?

(A) (a)-G1), (b)-G), (c)-Gv), (d)-ii)

(B) (a)-(Gi1), (b)-(v), (c)-@), (d)-@D)

(©) (a)>-(Gv), (b)), (c)-@), (d)-(iii)

D) (a)-@), (b)-G1), (c)-(ir), (d)-(Gv)

Which of the following is not a type

of validity ?

(A) Content validity

(B) Design validity

(C) Criterion-related validity

(D) Construct validity

Which of the following steps

generally is done before the other

Directed Social change
Pedagogy of oppressed

three in the Research Process ?
@)

(z1) Determining Sample Design

Preparing the Research Design

(zit) Developing the Hypothesis
(iv) Extensive Literature Survey
(A) @)

(B) Gv)

(C) @in)

(D) @)

71.

72.

73.
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o

AT 31T o AT wia
fagua o= Sedn e :
et 1
(@) WrETerE e
(b) #iferg Az
(c) Tere Us
(d) 3Tl Hi
et 11
() whEEl GER
(i) faftre f¥m gmfse afteds
(ti7) Snfoare fereroreme
(v) HAYd TS
WIEATAR! HIUA 3Teh T8 ?
(A) (a)-@1), (b)), (c)-Gv), (d)-(i1)
B) (a)-(GiD), (b)-(v), (c)-@), (d)-(i1)
(C) (a)-(v), (b)-1), (c)-(1), (d)-(ti1)
D) (a)-@), (b)-(1), (c)-(i1), (d)-(iv)

YUk IVl JEdn YHR A 7
(A) wi== ZHfaee (Ffagean)
(B) fezmds Xfaeer (=)

(C) wrEetar  fidds  =Ffasich
(fFremoreraega)

(D) xR Hfaser (ffdqayar)

GeNeE Ufhad qErerdehl IOl ot

ST TR A ?

() TINEH M@ TIR HIO

(f) THAT ANEES] S0l

(iti) TTEask faenfad ol

(iv) Hifgcar=n foaegd 3Teren

(A) @)

(B) Gv)

(C) @in)

(D) G2)

NN
a encicdl
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74. A magazine printed a survey in its | 74. T fIRITcTeRT T AFHHT=T ST
monthly issue and asked readers to Teh JEAI! SI9et d ardehHl df Jeae
fill it out and send it in. Over 1000 T& qreaudret foqdt shall. AR T
readers did so.‘)What is this type of SR SR Y YeT ursee.
Sample called * SiRlAn =] A5l enld Vldld ?
(A) A cluster sample (A) W el
(B) A self-selected sample (B) w=d-fiaifaa el
(]()3) ;‘; strlatiﬁeddsample 1 (©) wha T
D) ld1mp ;3 random sar;q;) e ; D) T =R
75. W Radio Day i t 2 3 -
W}(:irch d:y 1;) ay is celebrated on | s s
(A) 19th N b el S 2
ovember .
A) 19 regeR
(B) 30th April (A) 19
(C) 13th February (B) 30
(D) 8th December €) 13 g
76. What is the generic format of ‘Mann (p) 8 ) .
Ki Baat’ programme on radio hosted | 76. 9d9& S Al I 1A Elﬁ od’ =@
by P.M. Narendra Modi ? AT HEAHATAT AR vl
(A) Talk e ?
(B) Interview (A) 9o (2eR)
(C) Drama (B) gamEd (3e%7])
(D) Radio Feature (C) ek (M)
77. What is diegetic sound ? (D) wuHs o (Wesh fFR)
(A) Sound created through the use | 77. ‘SESE®’ &l ®BUN ®E ?
of an advanced digital system (A) ST siEE o e
(B) Music and narrative that S
h i h h ~ N
zhzr;;zg;gré%enotear and the (B) AfRE T, ¥1ehd TIRIG A1 Heh
, T, Tehard 3T A ST oM
(C) Sound that is heard by the ‘
characters in the fictional world (C) faawerdta st Srdrde
of the film T IO &St
(D) Sound created during the post- (D) R Tv| TR oA
production phase S GGl
23 [P.T.O.



78.

79.

80.

81.

What is the last stage of insertion
of an ad in TV programming
called ?

(A) Verification
(B) Insertion

(C) Distribution
(D) Scheduling

The film ‘Gully Boy’ is based on the
life of which rap artist ?

(A) Swadesi
(B) Anime
(C) Divine
(D) Raja Kumari

Who is credited with beginning the
Rasa tradition ?

(A) Abhinavagupta

(B) Anandavardhan

(C) Bharat

(D) Kalidasa

Which of the following Satyajit Ray

films was based on a story written
by Rabindranath Tagore ?

(A) Charulata
(B) Sadgati
(C) Ganashatru
(D) Aganthuk

78.

79.

80.

81.
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fafegs wEIwHT=A <= SIfedd
T o= Ufehadiel Jaesa oTal

(A) EaET (RAHHRIH)

(B) THE® (3HeM)

(C) o (fefegeger)

(D) ¥ @ (Sregfer)

‘edt afa’ @ fadue #HEear W
FATRIAT Sael SMYRAA 38 2

(A) wRHl

(B) e

(C) Zrared

(D) TS HART

‘W' WA e w0 S HIvE
fear s ?

(A) e

(B) 3THEH

(C) v

(D) HTeiie™

fedean qafartent oS I I hIvw
Tasrae Hagamy erik ar=n w9er senfia
B ?

(A) =TEerdl
(B) et
(C) TUIRT
(D) ATgh
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82. The news value ‘prominence’ is | 82. YHEMI ¥ &qHI Hod H3AT YR
said to be present in which kind of g femy ?
story ? .
. (A) 1 draHrEn gROmH 3Tk Tlehia
(A) A story that will affect a large IR T
number of people
(B) The story involves very well (B) =hTel {AHSH Al S91 SQHI
known people I
(C) If the story has one prominent (C) =TaHl T @ I 3Hd
character (D) SqHt FAEETETS Ufged qTHTeR
(D) If the story is on the front page [T 3 A
of the newspaper R A
. L. 83. 2019 Hell YAMdleT Zlegld Weh Haxddl
83. Indian television underwent
o . M W ST T TR 3T et
another historical milestone in its ShER , b
history in 2019. Which area of RN
television process did it impact ? (A) TeRH
(A) Production (B) faawor
(B) Distribution (C) Fiferee
C) C lidati ;
ED; Aonslo ida 1t(?n D)
malgamation N
84 Which t _ 1976 84. SATHITENU (T qIEYH == favreH
. ic committee in 3 5 S
recommended that Akashwani and NN ?‘ﬁ 1976 > f
Doordarshan be separated ? :
(A) Joshi Committee (A) Sieft wfedt
(B) Verghese Committee (B) =Tt |t
(C) Chanda Committee (C) =<1 |yt
(D) Sengupta Committee (D) Y |fet
85. Which constitutional amendment | gr  grdiy =g TeI=m Sy el
amended the Preamble to the HeE R e TEE \chﬂg 5
Constitution of India ? SR ’
(A) 41st Amendment (A) 415t ¥ 3l
(B) 42nd Amendment (B) 424 e
(C) 43rd Amendment (C) 43at gt
(D) 44th Amendment (D) 443 oI
25 [P.T.O.



86.

87.

88.

Internet Protocol Television allows

one to do what ?

(A) Watch TV on computers and

mobile phones
(B) Watch HD TV
©

(D)

Attach TV through wifi
Make a skype call through TV

What is an advertisement that is
intended to create goodwill for an
organisation called as ?

(A) Corporation advertising
(B) Product advertising
(C) Institutional advertising
(D) Concept advertising

‘Validity’ in quantitative research

refers to :
(A) Whether one can draw
meaningful and  useful

inferences from scores on a

particular instruments

(B) A characteristic or attribute of

an individual

(C) Use of interrelated set of

constructs

(D) Where researcher validates
the study by conducting pilot
study

86.

87.

88.
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TS UerTa fafegsies STaeTe
HE HA Id ?
(A) Al o A1 Aemsd hiFeR
aredr Il
(B) .. .. ded Ial
(C) IIwEen A& Sedar Il

(D) AT THZY Hid HL@ Il

TeIfaeRlt wgumeAr i swevaren i
fAfticiedr SRR ™ T&iye S| ?

(A) SENTHIEEET (HMARS) Sfedd

(B) 3dEAT=! (Wiese) Sfedd

(C) Tearesh (Sheeema) et
(D) HehoudlcH® (i) Sfeda

HEATCHS HINEATT ‘Sudl’ oS g ?

(A) faferse wreET STRIqE fHescien
T 7eq0l oqfv7 Iugea fensl

TG SRl

(B) TETedl Hee Afafase fawan
IOl

(C) Ha™ HhoTAT R aTR

HAd

(D) IATITH  IITH  HEA

ESNIPECR It
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89. In research, how does quasi- | 89. Wefiwm, wmEIfire wsd=ar gamq
e contrast to the FrsTAfie T o a2
(A) In terms of the degree of control (A) oA FIITRN FA AleadrT

excercised by the researcher TeNeehTe fHesum=an fe=ome yamor
over possibly confounding . )
variables (B) WIRTIEER Brom=a1 GRETo=n Semd
(B) In terms of the number of ORIl ATILeT ST A
control groups assigned by the e g faEE gy
researcher to upderstand their U e
effect on experimental group R
(©) In terms of number of (C) JARTHEN Herii<t weneehd fy=ra
participants identified by the ENite
her for th i . o . ¢
researcher for the experiment (D) A=A AU facAldd A=Al shidcHh
(D) In terms of degree of freedom AT FITHTRRTT TN SR
exercised by the researcher to .
operationally define each of the BZRINECICE
322‘;%?:“ and independent | g4  yrqwfe AL @I kR
EREERCERE I e 2 B RE DI

90. Which of the following is the most . A Aot o
appropriate data collection method 3.1%“{“' chiTAINIST JelctHenl snlTidl =4
to carry a research on dynamics of HeheM Tgd Fallfesh I 318 ?
interactions of control over television -
remote in a family set up in India ? (A) SR
(A) Content Analysis (B) Ha&

(B) Survey (C) Trdero
(C) Observation (D) eurEr
(D) Netnography a C o en T—

91. Daniel Learner’s ‘The Passing of 1. efad it A < )

. i . . ,
Traditional Society — Modernising | — AT T ﬁqﬁ 'R
the Middle East’ is an influential JYTET SI@ hIUCT &R Fafed oTg 2
seminal work in the field of : .. .

o o (A) FEATIA G
(A) Organisational Communication .
(B) Developmental Communication (B) 5
(C) International Communication (C) A FATI
(D) Intercultural Communication (D) STRARF qeh G
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92.

93.

94.

95.

When does a DTH operator does not
violate the ruling on ‘Airwaves being
public property’ ?

(A) Broadcasts its ‘own’ channels
with 24/7 ads, self-promotional
messages and teleshopping

spots unlicensed
(B)
©)

Offers value added services

Pop-up ads on screen occupying
2/3rd space

(D)

What does Section 499 of the Indian
Penal Code deal with ?

(A) Civil Defamation
(B) Criminal Defamation
(C) Press Laws

(D) Right to Criticize

Which of the following words have
not been mentioned in the original
Constitution of India ?

(A) Contempt of Court

Offers individual pay channels

(B) Parliamentary Privileges
(C) Official Secrets Act
(D) Social Equality

In advertising what are trade mark,
brand name, logo, slogan, URL,
jingle, packaging, spokesperson and
signage, etc. called ?

(A) Brand elements
(B) Brand value

(C) Brand equity

(D) Brand personality

92.

93.

94.

95.
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" SReTel R AT o’ A e
Seere ELALTE. ETHS vl
Sedid e AT ?

(A) SR E.A.Ta. AR foqrar
WA "o aife=n 9 fafay
et gafud a8

(B) SR e goaafyd de (g 3fee
qiedd) YoM Hd 38

(C) SR Jaifyd STREr=A Sl aH
GEIRIER I A b S
AT 3T

(D) AR Fad W T el TeH Hd
A

qIAE T Wfgadiad wAT 499

HIN GaE o ?

(A) TR AT

(B) TR HRHT

(C) I9 &R

(D) wHtenm wIvamEn YRR

ORAE "iguETe 9w ARteredT

qEeTiehl IVl Hhouadl THET]

T 2

(A) —ITAT=T ATH

(B) S fowmenfusr

(C) IMEHF MU T

(D) EHIfSeh GHA

Sfediveiel AR, g1, @,

e, (g 3T, |, gififae Sfer,

ISV, Yokl 3TFOT Ferrahtt, 3. A

HE WO ?

(A) T TeH

(B) SHHST A

(C) g fasmed (d€ sfoae)

(D) FHHST HAfKTH
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96.

97.

What is the most popularly used
advertising trick of making the
audience think that the product is
better than its really is called ?

(A) Puffery

(B) Weasel claim
(C) Cognitive
(D) Unethical

Which of the following is not a
citation and referencing style
followed in academic writing ?

(A) APA
(B) MLA
(C) API

(D) IEEE

Directions (Q. Nos. 98 to 100) :

Castells wants to reserve the terms
“Social Movements” and “Networked
Movements” to the social movements
he sympathizes with. But the far-
right movements that have become
so strong in many parts of the world
also use network logic and are
social in many respects : they are
social groups reaching out to various
social groups in society, they use
networking as social systems online
and offline, they often more than
some other parties argue for social
welfare policies for national citizens
(and an exclusion of immigrants and

96.

97.
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3R FIUE WiAg Sfei=n = 3Tg
I SR 2l 7 TES 3G © o
SARATIET BERE 9N 3718, 341 fa=ar
HE® @l ?

(A) ARHEIE

(B) ®Ear e

(C) SIS

(D) aTifah

TeeE 9 etfores faemoren dewtd
WeATeiesh! HIvRT SAFRe o Heufget
Srelt oXa AT ?

(A) WU

(B) THTAT.

(C) T3,

(D) 3223

fcor (W &, 98 ¥ 100) :

FETgd ‘gHifeSe gede!’
‘THAKIIN STeoicdl Haddest’ a1 Gl

$d T ASIBS I ST
HETHA Rl 3. T S,
TR 1 A I Fesdes! e
N A SMeddr= vl (07T FTfSTehan
IR — & TS TS 3ATed S GHTSAe
TR AN RN Sed ¥d[, A
fOT ATReATzd § 219l STes fHtor shia,
UL AATREES S SheaATomarS=
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refugees from the welfare state) and
so on. Neither the term social nor
the term network is automatically
politically progressive. What
distinguishes movements such as the
anti-austerity protests in Greece,
Spain and UK and other countries
and parties such as Syriza, Podemos
and the Labour Party under
corbyn, from Donald Trump’s white
supremacist supporters, Golden
Dawn, UKIP, the freedom party of
Austria, the Danish people’s party
Jobbik in Hungary, the Sweden
Democrats, the Finns Party, the Tea
Party and so on is that they struggle
with various means for an inclusive,
democratic form of socialism,
whereas the right-wing parties aim
at a discriminatory, xenophobic,
nationalist, Closed Society. In the
end the difference boils down to that
between democratic socialism for the
twenty-first century in order to
shape power in such a way that a
fair, just and participatory society
can be established. We may today
very well again have come to a
crossroads comparable to the one
that Rosa Luxemburg, citing
Friedrich Engles, identified 100
years ago : “Bourgeois Society
stands at the crossroads, either
transition to social or regression into
barbarism (Luxemburg 1916, 388)

JUN - 19219/1I—A

ROl AR O A SRATIU AT
gxard  (snfor geesft amfiw  snfo
Tafaar SheaTeRTl T HTEI= del
3adrd) s, TES fopan fStes fororay’
o1 G T SNSRI B AT,
gHles T I TR FeSdEe! THYgw
it A el
Tret, efer droeq Uit e Sifoes,
wWeTmea ehlwe, fihg ael, & U,
AR oMo I, §9 emfor .. Aeha
FehH-fadiet e s e,
TRHEME o1 hifeel ?er el A
T 3T it ¢ fafaer anmt TeadmewTs,
AR ST SIS @IS olel Sawd.
T 2 gcATe] 3dl Ierd fasrHa,

Aedld. Tavael I Tlah AT dl

ATRING FHATSTIARIGT ThTIHTAT

QTehTHIS! STRIT E 1 TR S0 T ~=ATH
T -veqardl ST FEuEl HHTS=T o
% . AU YR THAT M
STeEAER 3Tell 3Rl A=t gt ST
AT TSV THeT=a TREed R
Eigel] adaciedr AifhRdRll 2% ITehd.
TIHR HEHEE HHTS Teh TS TETer]
39 3R, Th T TS FHSERHS
THAY 38 W I U [AIITRS
i 3R (& 1916, 388)
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98.

99.

100. Which assumption has

What according to Manuel Castells
makes social movements politically
progressive ?

(A) By creating network move-

ments along with social
movements

(B) By including the right wing
parties

(©)

Inclusion of immigrants and
refugees into the welfare state

(D) Adding social systems online
and offline

Which factors in 21st century leads
to a fair, just and participatory
society ?

(A)
(B)

A nationalist society

Democratic social movement
online

(C) Welfare society with labour

parties offline

(D) Democratic socialism

been
advanced by Castells while sharing
the techno-determinism of various
thinkers ?

(A) Concept of social media lacks an
engagement with social theories
that conceptualize socialism

(B) White supremacist supporters
will bring in techno-euphoria

(C) No welfare state progresses
with exclusion of off-line

movements

(D) Transition may not lead to

socialism

98.

99.

100.
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TG HEHIIR HHISh  FBded
TSR ageed] QUTH I Bl ?

(A) SIS TBdcsiEled e fato
HLOT=T (2 ) Fosdadl TN h]

(B) Afq ISTeam UeIHT HeuIt kvl

(C) Wyt wmfw swfor fatfaar
HATIEh R TSHadd Te9NT ol

(D) QIS ST AR 3Tfur
G Sed =l

TehaHTed] ITAhTd H3TAT FIhIHB
T geqqTd], == 201 GeUrT 9HIS 99’
e ?

(A) TSERT TU

(B) STz AIhemel ArTfSeh Teddes

(C) HTHR g&T ATHART I HodUhR]
ESEIS

(D) AhIME THSEE

AT faaradaidt Aiededr ao
fafyadiemer (esi-fezfaftem) it emuet
HEHdl I e FHaedl Tl
T SR SR ?

(A) FHSTERTA] Heheaal 3 FagHagieh
e AARM A SIS0 HAS
HEqH A Feheaol YRR ARl

(B) TR Srsaqmee] UL qAMeTEl ST
(SFN-JHRIFAT)  SAT0TAA

(C) 3RS T3eledl sl g Hoctal
FHEITIRT TS YAl shid TRl

(D) FHHAUIGA FHSERE Jgerd 3T el
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ROUGH WORK

32



